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Until he processes them for its purpose — Jawh 2Ty TY

OVERVIEW
The &n»M2 cited the view of 1"2w7 than even the hides of MMV NMA2 must be
processed 12w in order to be able to write 2"no on them.

- (3,1 911mp%) PPIIND NMTI NNYY 2% S¥aT 19 N3P INIIMIY 13 PYNY 1395
We establish the ruling like 3''2w= that the hides must be processed m2w®, as is

evident in P17 P79, where it states -
= 12VY DINTAY ND 1YY PDM) INANIY NN 990 N9 99N INAN 2397 NMNIPY RONT NI4T

That there was that person who came before X''% and said to him; ‘I did not

process ;72wY the parchment on which I have written a n''®’ -
- AN 990 POINY PRI NNN PN T99Y 190979 NNN JNINIT D01

And the X773 concludes there that X"7 told him, ‘you are believed to lose your
payment, but you are not believed to ruin the n''c -

mooIN anticipates a difficulty:
- 2807 N9 ON NINTNA (3,0m 47 Ty 1T ) D993 KA MAN 1NIINT NI

And regarding the dispute between RX39) %28 in P77 %A pap, whether

‘preparation’ is significant, or not -
- 1929) HNOI) 12 PYNRY 1297 XDNTO2 INMNNYS ONN SPIN)

And the ¥7723 there established that the dispute between X271 2K is dependent

on the dispute between 31293 3''2® regarding 7mw? 7T12°y; the explanation there -
- HNOHNA 12 PYNY 1293 NN NNDH INT SINT DIV DY YIAY A NY

Is not like >"'w= explained it there that *»ax who maintains X7 Xn®» 71217 is
according to »''aw" -
- Yy My syay

Who requires 32w% 712% -
— 0739 Y71 93 *5%aN 5235 X399 19 NPT XNAYAN XNAYH NOWP 19 ONT

! In our m 3 the text reads n"o 7°0577> JAR1 DR 770w 70977 1AR1 ANKRW awd. In any event it is evident from that X1nx
that if the parchment was not processed 71nw%, the n"o would be 109, like 3"2w".

* The dispute (on 2,7) is in a case where one wove shrouds for a deceased person (but it was not placed on him yet),
according to "2X it is X172 7OX (as if the n» wore it already) since 71117 (setting it aside, preparing it) is significant;
however X271 maintains it is X172 M7 since X°71 RN?°7 W7 7171

3 2"y explains that »ax who maintains X7 Xn 717, meaning that the preparation is significant, will agree with
3"2wn that preparing the hide, which is like a 731177, must be taken as seriously as the act of the writing itself, so just
like the writing must be Tnw> the same with the T12°Y (the 711177) that it too needs to be done 7wh. However X271 who
maintains that X7 X0 W7 73217 for it is insignificant, therefore the 712°v, which is merely a 71217, does not require
that it be done nw>.
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For if indeed it would be as *"¥1 interprets it there would be a contradiction
from one ruling on another ruling, for we always follow X239 against 28 except
for their disputes in 2"3p »"'%,” and we also rule like 3”227 —

mooIn offers his explanation of 31277 3"2w77 RNNHPHI K2 MIX:
= NN ANV DT 1NV NHAOY s¥a NDT 19295 »ANT DN 13939 Y919 NON

Rather, explains the n''s that »2x follows the 3129, who do not require 712%

1wy, for the other preparation are sufficient to make it 72w -
- SNY NN NIATAT 113 1AVY DMN PVVIYM DI9YPN PIPINY

For we prepare the parchment and score it 32wb, that is sufficient since ma7
N7 K9 -

- "N03m NN XYY 1YY N2y 53T INOYII 12 PYNY 1299 XA
However X2n follows 3''aw= who requires a total 12w% 712%, but not a minimal
preparing since X’ X0 W7 7317,

Mmoo anticipates an additional difficulty:
- INOD) 12 PYNY 1299 KNI 13390 297 (3,31 91 mmn) NIINNA 1IPININT 2) DY GN)

And even though the X713 in n%an;7 P states that 21 is according to the 3321

(who do not require 1w? 712°v) and YRmw is according to 3''2w (who requires 712w
nes) -

- 5591054 295 NNAYM
And we know that the ruling is like 39 in 999X laws against ?X1w. Seemingly we have
here a situation of (3"2w12) RN277XR (272) ¥XNI77 Xowp!

mooIn responds:
- DNV NNaYH NN

Here, regarding the laws of 12w% 712°V, the ruling is like Y812, not like 21 -

mooIn anticipates a difficulty:
= N2 95°¥aY 997 XNYIN INN NN 92 HNINY 29D AR DNN NYY 9INRT 23 HY 9N)

4 According to *"wA if X327 follows the 13137 and argues with 3"2wA, we have a contradiction, on one hand the 7377 is
like X237 (who agrees with the 131271 and argues with 3"2w) that X°77 Xn?* WY 73217, and on the other hand we follow
3"2w (that [seemingly] &7 Xn%7 73a17)!

> 0"3p "y is the 10 for the (only) six m2%7, where the ruling is like 2 against X27. See “Thinking it over’.

® Since we maintain X°7 Xn?"» 73T, so any type of preparation fnw such as 29%p7 1p°n (cutting them to size)
W is significant enough to consider that the 71%p was made maw®.

7 X271 maintains X°7 Xnm XY qwar, it is insignificant, therefore merely preparing the 597 does not make it 7nw>,
rather there is a requirement that the entire processing of the 72p, needs to be w5, for 712’ is more significant than
merely LIV 2P PPN

¥ 1w T2° is not a monetary issue but rather an MoK issue. See “Thinking it over’.
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And even though that »2x there said to >''aw=, ‘how do you dye the nan’ -
- NDY23 NN 1599 192 1Y 19199 ©23190) NN 0719 X1 1PY 9N

"2 answered him, ‘we bring the blood of the 11 and herbs (for dying) and

we place it in a pot, and boil it, and we take some of the dye in an egg shell -
- 7N133 NYTIN INAY 1991 RNYIA NINNY 1997V RITINA ND 1399YV)

And we test it by dyeing a piece of wool and we throw away that egg with the

dye that is inside it and we burn the wool in fire -
- Yywy nyray 19931 ywn
It is apparent that we require that the dyeing of n7on be 2w> —

mooIn responds:
$J2YD NYPIAN RDY NNV XD NI2%Y XD 93 KD 1IINT NDP RY ANT 9919 298

It will be necessary to say that »aR did not accept what >"2w" told him about
making n%5n, for according to »aX there is no requirement of 7%w> neither by
712% of the hides, nor by spinning of n°x°X, and not by dyeing of n7>n.

SUMMARY
moon rules that the 7097 is like 2"2wn that we require 72w T2 (and it is in
accordance with X217 who maintains X°7 XN XY 73917).

THINKING IT OVER

moon had two contradictions of Xn3%°7X RNOY°1; one concerning xnw,“ and the
other concerning 11.'> Regarding the X271 contradiction, Mmd0In remained adamant
that the 7057 is like X217 (and not like »aX), however regarding the 27 contradiction
Moo simply said that here the 75%7 is not like 27, contrary to the rule of 275 Xn>%n
"M0°X2. Why the difference in these two cases?

? The little dye in the egg and the wool were used for testing whether the dye takes well, therefore we cannot use
them for n95n, since the wool was not dyed n?an aw?, but only for testing purposes. This proves that n?on? ny°2x
must be 7awY.

' The xma there states explicitly regarding this story that yawh Ay»ax w2 n"w. However mpown concluded
previously that »»ax agrees with the 13121 that we do not require T12°¥ (or 7¥°2%) to be Ww5!

' See footnote # 5.

12 See footnote # 8.
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